¥ EE(FHAULTTMBI T,

FLELCTIRILC POLIERED)ITIODEL.

MHAIEREHE

e ) B JT
AS E8 AS E8 PRO

£ E 1,249mm 1,239mm

En ) 400mm

ESN 182mm
AA>O—R—% 1,361 mm

(JRCB00 16A88F )

R NHM-4025(KV & 740)
F—)LO—8—R& 234mm | 262mm

Fr—Ltt 9:1:4.7

=REsE 3.7008 ~ 3,6008 ~

(AAO0—B—8%F/ NvFU—28)

v/ ek oW /) fE N

740°

120°




61312 80006
61503

80014 Op:61311

61313

61499
Op:61498

9
©

(o

81026
96146

)

9

81027

4
xS

80059 e 80164 50099 ©
70098 B 70002 70558
olags

& Op:61495
P.92 rs 80032 61442



BRES BRBHR (i} e  BE

61165 AREP—LBASGC O—A— v FA) 840(800) X 2 1 #5

61308 N—LA 3156(300) X1 FrvIRIE M3 X 10 &
61309 TR —NT 4,410(4,200) %1 Brg #AEH
61311 v—Y— Ass'y(R) 1.575(1.500) X1 Brg #AHFH
61312 ABREP—LtV 1.575(1,500) x2 ABER Y N—fE
61313 AREP—LA 525(500) X2

61442 ASG XF> > 57— L Ass'y( Y IVN—) 3.160(3,000) x 2 Brg #AHFH
61495 ASG XF+> > 57—\ Ass'y( TR ) 3,160(3,000) x 2 Brg #AHFH
61496 ASG XF+> V57— Ass'y(R) 3,160(3,000) x 2 Brg #A P EH
61498 ASG ZAET—L A(TR) 2,625(2,500) x2

61499 ASG ZAET—L A(E) 2,625(2,500) x2

61503 Y=Y —Assy(FR) 1.575(1.,500) X1 Brg A FH
70001 I3/ Y RR—=UA 525(500) X 10 AHSNMRI M2 X 8 E
70002 DERP AN ) 525(500) X 10 RAYSZNRIM2 X 104E
70004 AZN=HVIVH 525(500) x 10

70095 ATV H L 315(300) X2

70098 AZN=HVI>H S 420(400) X b

70099 OwYyv—12 X 16 %05 525(500) X2

70120 I3A 2 hR—)VAX=H—115 210(200) X 2

70466 R—I)VP—LLBS 210(200) X1

70518 AYN—0 )25 (7.5 x 145 x 3.5-90) 525(500) x4 BB :90°

70558 O—&%—XAX—%—115 315(300) x4 15

70560 AUN=0 U245 (75 x 145 x 3.5-70) 525(500) x4 REE0

70561 AEV RIS LDV v — 168(150) x 4

70562 Uy TAN—H— 210(200) X 2

70563 V== A—NT— 315(300) X 2

70564 AREP =LA v )N— 315(300) X 2 YRR E MA X AHE
70576 Owyv—03 X 45 X1 105(100) X 2

70619 AEV ROV »—Mb 210¢200) X2

80004 Y hRIVE M4 X 4 315(300) x 10

80006 FrvIRIVE M2 X8 368(350) x 10

80014 Fvv IR M3 %10 315(300) x 10

80031 Y SNWRI M2 X 8 1568(150) x 10

80032 Y SMxRI M2 x 10 168(150) x 10

80052 *Y0OvFM23 %15 105(100) X2

80055 *Y0Owv kF M2.3 x 70 105(100) X 2

80059 FrvIRIVE M3 X 14 3156(300) x 10

80089 FrwvIRIVE M26 X 10 368(350) x 10

80119 ARV F vV TRV M3 X 8 315(300) x 10

80164 FAM0YF+ vk M4 525(500) x 10 t3.8

80166 MURSAKH—3 x54x0.13 105(100) X b

80117 Frw IRV M2.6 X 6 315(300) x 10

80177 MR F v w TRV ME X 10 420(400) x 10

80201 ARV F vy TRV MA X 8 368(350) x 10

80202 FSv ORI EEY M4 X 30 420(400) X1 [ %)

81015 CA 1E®ER M2 210(200) x 10

81021 Brg ¥—JUK 04 x 08 X 3 1,165(1,100) % 2 L8402z

81026 Brg ¥—JUKF 08 X 16 X 5 1.165(1,100)  x 2 L-16802Z2

81027 Brg RS RX K08 X 16 X b 1.890(1.800) x 2 SST-1680D0SG
81032 Brg ¥—JUKF 03 X 07 x 3 1.165(1,100)  x 2 L-7302Z

96146 SERYVIP— A 315(300) X1 T — LD

96439 A0 —8—4GUv7T 7,875(7,500) X1 Brg #A I EH
96440 EyFP— LA 1.5756(1,500) x 2 Fr v IR MIE
96443 AEYV RIS+ 2D~ M5 525(500) X1 DvYv— - RIVEAE
96445 A2 N—=d LA 525(500) X2 % 90"

P.93



61501

Op:61318

P.94

61500

70082

Op:61362

70565

80115




BRE=S ER2R (il BE BE

61075 RRESAY—-TL—F 2,100(2,000) x2 —=

61109 RRESAH—)N— L440 840(800) X 2

61318 DAV A PHRN=R(IJN—) 1,5675(1,500) X1

61319 RDvwaFl—bk Ass'y 6,300(6,000) x 1 R—IVP—LfF=

61320 YARRRwW/IN— 4200400) X1 FevIRIVE - Y ERRIURGE
61362 ASG ZDwvw¥aTJL—k (120° /140° )(¥Ju)N—)10,290(9.800) X 1 R—IVP—LNE

61500 DAY PO EN—=X (IR) 1.5675(1,500) x1

61501 AW P IORN=R(E) 1.5675(1,500) x1

61502 ASCG RDOvyaJL—k (1200 /140° H(IR) 10,290(9,800) X1 A=V P—LE

61589 DA WA TP O RP—AAssY(IR) 3,360(3,200) x2 RF-830ZZ-F+ v 7RIk M3 X 14 4&
61607 AAINA R~ 1,050(1,000) X1

61628 DAWwYATPORP—LtY 1.575(1,500) X1 RF-83077 - F+% v 7RIk M3 X 14 4=
70001 V3V A=A 525(500) X 10 AYZ/NRI M2 X 8fE
70002 Va3V rR—=IUB 525(600) X 10 RAYVZ/NRIM2 X 10
70078 I3V RrR—JVAN—H—12.75 210(200) X 2

70082 DvwYy+—03x45x%x04 315(300) X 10

70119 AN—H—03 x 05 % 1.8 105(100) X 2

70184 A—IVP—LAL L9 210(200) X1

70536 RREZARYN—(8) 315(300) X 2 v kRIVE M3 X 4 S
70565 A=V —L 1L28.25 4200400) X 1

70648 DAV FORIVHC 263(250) X 2 EfdE

80001 v kRIUEK M3 X4 210(200) X 10

80031 YIRS M2 X 8 158(150) X 10

80032 DY ZNIERY M2 X 10 158(150) x 10

80059 FrvIRIVE M3 X 14 315(300) x 10

80067 v kRIUE M3 X3 210(200) X 10

801156 FrvITRIUEM26 X 8 315(300) X 10

810156 CA Lsb#g M2 210(200) X 10

81031 Brg ¥—JUK FO3 X 08 X 4 1.155(1,100) x 2 RF-83077

96437 RRESAY—=TL—F 1,050(1,000) x2 1tvhk

96438 RREZR Y IN— (I N—) 315(300) x 2 v kRIVE M3 X 44E

P.95



96459

61182 80054

70002 (@



BRES BREBIR fibts BE HE

05012 EvOR—2tvh 263(250) X1

60818 AD0vra3rk0—)ULUN—B 1,060(1,000) X 1

61179 AW 3Y O0—)uLN— ACAS) 1,890(1,800)  x 1 Brg &

61181 ADvwya213Y EO0—J)UN—=2X (AS) 1,060(1,000) X1

61182 N=RZREYFIY v 27k (AS) 630(600) X1

61322 IUN="— AP—LI 525(500) X1 FoRF v v IRV E M3 X 27 f4&
61323 IUN=A—AFP—Ltvhr 1.575(1,500) X1 LF-8402Z &

61576 ADOvwy23Y O0—)bUNN—B(IR) 3.160(3,000)  x 1 I3V hR—=)U Y bRV RIE
61616 ADOvwya23Y O0—)bUN—A(TR) 4,095(3,900) % 1 Brg #AH FEH

61617 AWV F0—)UN—X (FR) 3,045(2,900) % 1 YRRV M X AHE
70001 I3V rR—JUA 525(500) X 10 AHSINRIM2 X 8HE
70002 I3V RR—UB 525(500) X 10 RAPSNRI M2 X 104E
70004 AZN=HIWI D 525(500) x 10

70039 EvFUN—IXN—H— 168(150) X1

70053 I3A Y FR—)VAX—=H—12.2 210(200) X 2

70082 Dwyv—03 x45x04 315(300) x 10

70098 AN=HVI>VH S 420(400) X b

70104 Y—mRevhTJLU—FB 525(500) x 10

70209 RO 213VE0—)VP—ALBrg h>— 263(250) X 2

70637 ULN=PSAXEVD 2 525(500) X 3

80004 Yy kR E M4 x4 315(300) x 10

80020 F v IRV E M3 X 28 420(400) x 10

80031 RYSIPRI M2 X 8 168(150) x 10

80032 RSN M2 X 10 168(150) x 10

80037 vk M2 168(150) x 10

80039 10V vk M3t2.8 420(400) x 10

80045 RIY0OwW K M2.3 x 45 105(100) X 2

80052 XY0Owv kR M23 X 15 105(100) X2

80054 Y0V FM23 X 65 105(100) X2

80119 AEVF v ITRIVE M3 X 8 315(300) x 10

80121 RIYOW R M2.3 x 25 105(100) X 2

80164 10V vk M4t3.8 525(500) x 10

80187 Frv IR M23 X 15 315(300) X b

80193 ARV F vV ITRIVEM25 X 6 210(200) X 2

80211 HEX &vE> SRV E M2.6 X 12 210(200) x 10

81032 Brg ¥—JUK 03 x 07 x 3 1.165(1,100)  x 2 L-7302Z

81036 Brg ¥—JUk FO4 x 08 X 3 1.165(1,100) % 2 LF-8402Z

81059 Brg &¥—JUk FO4 X 10 X 4 1,165(1,100) % 2 LF-1040X2

96459 Y—ARYOVETU—htvh 525(500) X1 NIV TU—bX8K=VT 45 TU—H 10

P.97



70655 @ % 01005

61330

70457

=N

61615

@,
IS
&

Qs o

3

o
7,

@
S

@)

80014

61622

80020

@ Q‘b’
,’,{I,{’,/,{"(fl~



BRES BREBH i B8 HE

61330 YA Brg s —2X 1.5756(1,500) X1 L-1910Z2Z #HPAHFHH
61534 NvTU—=H52 T 630(600) x4 YS5FPVIRUE - FAOVF Y AIE
61620 N—RU AL LA 168 X 64 B 3,1560(3,000) X 1 EvF5s0 NvTFU—552 T RV MIE
61621 D= XA > — L (ASES) 21,000(20,000) x 1 L/R - Brgft&

61622 N—IRYRT 4 =XV TU—F 3.160(3.000) x 2

61623 =RV A XY R—K— 2,100(2,000) x2

61615 ITvIJOTHH— 525(500) m Hho— 8

70456 HORAVN—=L17(E®) 840(800) x 4

70457 HORAN—L32 525(500) X 2

70527 HORAN—L20 525(500) X 2

70568 DORX)N— L] 525(500) X2

70583 F v v IRV ERILVE— M3 525(500) x 10

70588 NT A4 —FvvF L24 525(500) x 2

70652 AT A4 —FrvFLI9 525(500) x 2

70634 BREHSORXYN—=L32P20 630(600) X 2

70655 AT A —FrvVFAYFL2 3156(300) X 2

80012 FrvIRIVE M3 X6 3156(300) x 10

80014 F v IRV M3 X 10 315(300) x 10

80020 F v TRV M3 x 28 420(400) x 10

80039 10>+ vk M3 420(400) x 10

80068 v R E M3 X 15 210(200) x 10

80095 YSFrv IR M3 X8 368(350) x 10

81005 Brg ¥— )UK 10 X 19 x 7 1.165(1,100) x 2 L-19102Z2

96465 JrA(ONYDIVE 420(400) x 1

P.99



70513

P.100



BRES BREBH (il nE HE

60986 T—IVEZ#> Brg 5 —2R Ass'y 1.890(1,800) X1 Brg #AHFH

61074 HG A —hkO— NDI> 5 Assy 7.560(7,200) X1

61112 F—hkO—Y vk 2,620(2,400) x 1

61194 20V KT7-U—T18 1,680(1,600) X1

61330 YA Brgsr—2x 1.575(1,500) X1 L-1910ZZ #BAHEH
61536 ANAZIEZF>F+ T10 2,730(2,600) x1 YRRV M X AHE
61537 ANA ST —IVEZF>VFv T17 2,730(2,600) x1

61538 ANA S XA 2 F 9 TI0 5250(56,000) X1 Fr VIR M3 X 6HE
61618 ANA ST —=VRS4TF+—T80 3.1560(3,000)  x 1 YSF v ITRIVE M3 X 6AFE
61619 TR SATFr—NDIVT 2,100(2,000) %1

61626 E—%— NHM-4025 16,800(16,000) X 1 KVE 740 JIROANE
70474 F—hFO—RN—H— 210(200) X1

70513 NARERNRIVEEY 315(300) X1 M3 - M4

70572 E-#x>7Fv kM9 210(200) X1

70583 Fv v IR ERIVA— M3 525(500) x 10

70631 F v v IR ERIVE— M4 525(500) x 10

80001 v RV M3 X 4 210¢200) x 10

80004 Y bARIE ME X4 3156(300) x 10

80009 Frv IR M26 X 12 368(350) x 10

80012 Fr v IRV M3 X6 315(300) x 10

80013 FvvIR)UE M3 X8 315(300) x 10

80014 F+v v IR)UE M3 X 10 3156(300) x 10

80036 JL—kDvYyv— M3 105(100) x 10

80065 YSF vV IRIE M3 X6 368(350) x 10

80181 F5RF v v TRV~ M4 X 26 315(300) X 2

80164 710>+ vk M4(13.8) 525(500) x 10

80171 AEVFvw ITRIVEME X 10 368(350) x 10

81005 Brg ¥—JUk 10 X 19 X 7 1,1656(1,100) X% 2 L-19102Z

81006 Brg ¥—JUF 06 X 19 X 6 1,1656(1,100) X 2 R-196027

96218 E—AH-—~DVF 3.150(3.000)  x 1

P.101



80012 .
80096
™ 61344
81028
"i;§% D
¢ 80004 ‘A
70152 “\‘!& S _
: 2 o
61204 . ] “I'I."_
70137« 013%
61345
® .
@W
80039
80066
70150
70528
96493 @
80039 81015 ’
80128 61201 - -
81065 >
T 6126 h\<§b(®b
) | 1 1 L 3
, A
81019 I ‘@@ 80060
C
| - 81038
7=

80032

70002

A

\\\\ o
& &
& 2
M

80200

P.102

“ q

,' G

&

\r(‘(\}) ° g 50056

’70530/ S,

80039

80031

g\\\80004

61202

61348




BRES BREBH (il nE HE

60056 T—ILPCUYVD 210(200) X 2 T—IUPCUVHEUNE
60211 HGC T— bt A —N\T 840(800) x 1

61201 T—IVRSAFUVT 1,260(1,200) X 1 Brg 4=

61202 T=)EYFIY FO—)LUNN—E Yk 1,680(1,600) X1 Brg &

61204 FT—)T—-U—T18 1.680(1,600) X1

61218 7 —)UEREINIL k (60S3M1596) 1.890(1.800) x 1

61261 T—JLPCTL—F 315(300) X1

61342 T3> J—1)— Assy 630(600) x 1

61343 T—WT—=U—=2 1,050(1,000) X1

61344 T—)LTL—kL 1,890(1,800) X 1 Brg A AR FH
61345 T—)L7LU—FR 1,676(1,500) X1 Brg AR FH
61346 T TL—FHO0RAN—L23 210(200) X

61347 EEREE 1.260(1,200) X1 FrvIRIMMIE
61348 T—lO0—4%—FUvTtvhk 525(500) X1 1 #n

70001 DERP AN 525(500) X 10 AHSNRI M2 x 8HE
70002 I3V R—)UB 525(500) X 10 #AHZNMRI M2 X 104&
70137 HG7—WPDOrTv b+ T '735(700) X1

70150 OU>4 056 x07 %1 210¢200) X2

70152 Dw¥v—05x 07 x0.05 210(200) X 2

70528 T=WRSA IV HGRY =T 315(300) X1

70529 T—=IVPCRPUVEGRS— 315(300) x 2

70530 T—J)VPC XS4 KRV 315(300) X 2

70573 ToY3vI-)—h>— 210(200) X 2

80004 W R M4 X4 315(300) x 10

80009 Frw IRV M2.6 X 12 368(350) x 10

80012 Frv IR M3 X6 315(300) x 10

80013 Frv IRV M3 X8 315(300) x 10

80031 AU SNRIM2 X 8 1568(150) x 10

80032 Y SNMRIM2 X 10 1568(150) x 10

80036 JU—hFDvY+— M3 105(100) x 10

80039 FA 0>+ v b M3(t2.8) 420(400) x 10

80060 F v TRV M3 x 20 368(350) x 10

80066 TS5RBVEVGR)UE M3 X 8 210(200) x 10

80096 F+v v IRV M3 X 32 420(400) x 10

80128 FAO0VF vk M2 368(350) x 10

80129 FAO0VFY kM6 368(350) x 10

80131 FrwIRIUE M2 X 10 368(350) x 10

80200 T=IVESVORIVEEY B 3156(300) X1

81015 CA Bl bgg M2 210(200) x 10

81019 Brg ¥—Juk 04 x 10 x 4 1,1656(1,100) x 2 L-10402Z
81021 Brg ¥—JUk 04 x 08 X 3 1,1656(1,100) x 2 L-84027

81028 Brg ¥—JUF 05 x 10 x 4 1,1656(1,100) %2 L-10502Z
81038 Brg ¥— Uk FO4 x 07 x 2.5 1.165(1.100)  x 2 LF-7402Z
81065 Brg ¥—JUKF 07 X 11 x 3 1.165(1,100)  x 2 L-11702Z
83114 T —)UINA T L720 1.680(1,600) X1

96493 F—IOD—%—TL—F 630(600) X2

P.103



81016

80004

Op:60360

D 70152
20649 61591

)

9 ‘\\ o)
61592 & ///V“% 2

o)
61201 / ; 61204 80091
70293 70528 \
< @bl 70137

®

80119

61596

70150 70530 b Op:61294
81038

@)

CN) :.J
@ 70545 61373 — | N F‘?

80013

P.104




BRES BREB (il nE HE

60359 HG 7 —bFP— =X 2,940(2,800) x1

60360 HG T — b+ v—HILA— 2,100(2,000) %1 Hho— 1 &

60556 T—I)LPCUYS B 315(300) x 2 HGT—ILPCUVHEVE
61151 Hh—R>7—)bO0—%&— 3,780(3,600) X2

61201 T—IVRSA UV 1.260(1,200) X1 L-1170ZZ MY EH
61204 T—=IT—)LT—-U—T18 1,680(1.,600) X1 YRRV M X AHE
61218 7 —JUBKEINIL |~ (60S3M1596) 1.890(1,800) X1

61294 ASC T—IF+vr—UN—=TS5v 1,050(1,000) X1 Hho>— 1 &

61373 ASG T—)bEWF IV O— LU=tV k 3.1560(3,000)  x 1 1evhk

61398 h—RVEBER 2.310(2,200) X1

61423 TR —N\T 1,676(1,500) X1 YRRV MA X AHE
61424 T—Io—4—5UvT 840(800) X1 (%)

61433 HG T—lbe>A—N\Ttvhk 52560(6,000) X1 1 5

61590 ASGC T—IF v —HIE— (IR) 2,100(2,000) x 1 FrvwIRIE Y ERIVSEE
61591 ASG T —)UFv—XP V55— A 3.1560(3,000)  x 1 R-1350ZZ #A 5 >
61592 ASC T—IFv—XPUVG5r—XB 3,1560(3,000)  x 1 R-13502Z #AHEH
61594 ASG F—)UPC JL—k 3,1560(3,000) X1 PCUYVONE

61595 ASG T—=)Fv—4—R 2 10,290(9,800) X 1 13

61596 ASC T—IFv—UN=T35 v (k) 1.050(1.000) x 1

70002 V342 hR—JUB 525(500) X 10 AHSINRI M2 x 10&
70137 HGT—WPO Ty vT b 735(700) X1

70150 OUXZ05x07x1 210(200) X 2

70152 Dw¥e— 05X 07 x 0.05 210(200) X 2

70163 OUY4F35x55x1 210(200) x 2

70293 HG 7—JLPC UV HEY 368(350) X 2

70528 TIWRSARFUYEGRY =T 3156(300) x 1

70529 T—)VPCRXP IV THZ— 315(300) x 1

70530 T—)VPC XS4 KRV 315(300) X 2

70545 DOwY+—08 X 10 X 0.5 210(200) X 2

70577 DwYe— 05X 07X 0.5 105(100) X 2

70583 F v TRV RIVE— M3 525(500) x 10

70649 T=ITL—EO0RXYN—=L16(7R) 210(200) X1 MRV Fvw TRV M3 X 6 &
80004 LY hRIVE M4 X 4 315(300) x 10

80012 Fvv IRV M3 X6 315(300) x 10

80013 FrvIRIUE M3 X 8 3156(300) x 10

80032 AYSNRIM2 X 10 168(150) x 10

80036 JU—hDvYy+— M3 105(100) x 10

80037 F vk M2 168(150) x 10

80039 10V v k M3(12.8) 420(400) x 10

80067 v AR E M3 X3 210(200) x 10

80091 ARV F vV TRV M3 X6 315(300) x 10

80115 FrvIRIVEM26 %X 8 3156(300) x 10

80119 MRV Fvw TRV M3 X 8 315(300) x 10

80128 FAO0VF Yk M2 368(350) x 10

80131 F v IRV M2 X 10 368(350) x 10

80200 T—=IVFES VORI E 315(300) X2 M3 X 15 - FA 0OV v bE
81016 E BliEsbgs M1.5 210(200) x 10

81028 Brg ¥—JUk 05 x 10 x 4 1,1656(1,100) X2 L-10502Z

81029 Brg RSRXE 06 x10x4 1,676(1,500) %2 T5-10

81038 Brg ¥— Uk FO4 x 07 x 2.5 1.165(1.100)  x 2 LF-740zZ

81065 Brg ¥—JUF 07 X 11 x 3 1.165(1,100) % 2 L-11702Z

P.105



STD 83114
PRO 83073




BRES BREBH i B8 HE

05015 A=N=hR—=tvhk 315(300) X1 5@BAY

60044 T—IVYR—KR—TIVF 105(100) X1 FrvIRIUE M26 X 12 &
60733 T —)VINA TRV — 683(650) X 2

61198 TV R—EHS2 T (AS) 735(700) x 1

61349 KEEE 1.050(1.000) x 1 FrvIRIMMIE

61397 N—RVKEEE 1.890(1,800) X1

61448 T— )V R—A2—T > o 5(50) 630(600) x 2

61578 T—)VOv KA Rty kD 525(500) X1 TSRAVEVGRIVE M2 X 8F&
61627 T —)UINA TRIA— (F%) 1.575(1,600) x1

70002 I3V EAR—UB 525(500) X 10 AHSINRIM2 X 10KE
70004 AZN=H VU5 525(500) x 10

70018 AN—=H—B03 x 08 x 6.5 210(200) X 2

70527 DORX)N—L20 525(500) x 2

70583 F+ v IR ERILVE— M3 525(500) x 10

80009 FrwIRIVE M2.6 X 12 368(350) x 10

80015 FrvIRIVE M3 X 12 3156(300) x 10

80019 Frw IR M3 X 22 368(350) x 10

80022 F+w TRV M3 X 40 420(400) x 10

80024 TS5RAVEVGR)UES M2 X 8 1568(150) x 10

80032 AHZWxRI M2 x 10 1568(150) x 10

80036 JU—FDvyv— M3 105(100) x 10

80037 Fv kM2 168(150) x 10

80039 FAO0VF vk M3(t2.8) 420(400) x 10

80061 Frw IRV M3 X 25 420(400) x 10

83051 T—)b3J>O—J)LOWV I L6885 525(500) X1 AZN=H VI oE
83073 N—IR>T—)UNATL718 6.510(6,200) X1

83105 T=IHR—RNAT £y LA75(R) 1,7856(1,700) X1

83114 T —)uNA T L720 1.680(1.,600) X1

83118 N—RT—HR—K—NAT25 3.160(3.000) x 2 THD YR —TVRNE
96459 Y—RYDYETU—ktYk 525(500) X1 NOYETU—=b 8 R=T 45T —H10

P.107



80019

(s,

61426

P.108



BRES BREB (il nE HE
60036 PUTFNAT 210(200) X 3

61324 M7U—RPETH— 1,260(1,200) x4

61350 MRAEvE (8]) 1,060(1,000) X2

61426 O—N\A FHITL—X V2 1.365(1.300) X2 Y kKRILEM3XAHE
61445 O—N\+ kBItv k V2(50) 2,100(2,000) x1 —
61624 RELHOBRAN— (FR) 1.575(1,500) X1

61625 H—RVRSLTL—LTL— (ASE8) 3.150(3.000) x 1

70018 AN—H—B03 x 08 X 6.5 210(200) x 2

70023 RFYy FFrvT 210(200) x 4

70457 HORAN—L32 525(500) X 2

70583 F v v IR ERIVE— M3 525(500) x 10

80001 Y hARIUE M3 X 4 210(200) x 10
80014 F+w TRV M3 X 10 315(300) x 10
80018 Fvv IRV M3 %18 315(300) x 10
80019 F v v IRV M3 X 22 368(350) x 10
80036 JU—FDvyv— M3 105(100) x 10
80039 FAO0YF vk M3 420(400) x 10

P.109



61629 61303
60527
61259

70189 10326

61300

60072
82340
82204 Op:82301
61614 61516 61612 82307

823;2¢¢%¢ﬁ
@J%
Q 0

o

70025




BRE\ES BieaBwR il nE f#E

60072 SN=TJ0XW K 210(200) x4

60527 ANAZVF2—T 1m 210(200) X1

61259 NIVHRRSvT L 525(500) X2 Ho— R L:270
61300 TU—FHRIA— 1.050(1.000) x 1

61303 NIVHRRZSVTS 3156(300) X2 HZ5— 7R L : 200

61491 NIVHRSvT 525(500) X 2 Hho>— 18 L : 200
61516 THh—) (T2V2010) 1,576(1,500) X1

61546 NIVHRESYT XL 630(600) X 2 HZ— R L : 420
61612 7 71—)U (ASE8) 1,060(1,000) X 1

61614 #1578 (ASES) 2,100(2,000) x 1

61629 NIwHT—T L60 210¢200) X2

70025 RAAWFAUN=T L 210(200) x 4

70526 AT 4 —BfNRY 210(200) x 4

80189 ARSRAVEVGRIVE M2.6 X 6 168(150) x 10

82294 AT 4 —tvhk 4,410(4,200) x1 Fr/ E—HE

82295 Fv/E— 1.470(1,400) X1 ARSRAVEVOIRIE M2.6 X 6FE
82301 FRP RT 4 —I7PE—S 10,500(10,000) X 1 NZ— KROA b - TH-IAE
82307 FRP RT « — (T2 PRO) 15,760(15,000) X 1 NS—FUVY - THIUNE
82319 FRP ART « — (T2 PRO)V2010 15,750(15,000) X 1 No— AT0— THA-INE

82340 FRP AR7 « — (E8 PRO) 15,750(15,000) x 1 ho— J)=>  FTh—IE

P11



and catch the sky with JR!/

- JRPROPO

iy JRPROPO.CO. JP

LOT NO.

2011.05

AS E8 FAIIRHAE 1 bk
BRDIZH, HRROYZ2PZVORBICOVTRER<ERT 35D DY E T,






